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Review for Quiz: 11.1-11.3

I . Given the polynomial  
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P(x) = 10x2 + 5x3 −15x
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,  find the following:

a)  standard form ___________________________

b)  degree _____________________

c)  leading coefficient __________________________

d)  coefficient of 
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x2










x

2

 ___________
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e)  coefficient of x  __________________________

f)   GCF  ______________________

g) factor completely ________________________________________________________________

h)  P(1)=  _____________________________
i) P(-2) =  _________________________________

II. First identify whether each is a polynomial, then fill out the chart for those that are polynomials
	Put in Standard Form if Needed
	Polynomial?

Yes or No
	Classify by Degree
	Classify by Number of Terms
	Leading Coefficient

	1. 6x7 + 2 - 3x

	
	
	
	

	2. 4x3 + 2xy

	
	
	
	

	3. 7x-1 + 8

	
	
	
	

	4. 
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	5. 2x2 + 4x2 – x4 +1

	
	
	
	

	6. 
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8a2b3 − 7ab+ 5ab2
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III. Expand and simplify (i.e. distribute or multiply and simplify)
	a.  
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	b.  
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	d.  
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	e.  
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IV.  Factor the following completely. Remember to take out any greatest common factors first.
	a.  
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	c. 
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m2 – 12m + 36










m2

–12

m

+

36



	d. 
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49x2y− 21xy2
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	e. 
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x2 + 7x +12
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	f. 
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	g.  
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	h. 
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	i. 
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	j. 
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V. Use the discriminant 
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(b2 − 4ac)
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to determine whether or not each polynomial is factorable. Then factor, or write “prime” if not.
	a. 
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9m2 + 6m +1
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Discriminant: ___________

Factor if possible: __________________


	b. 
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x2 −15x +30
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Discriminant: ___________

Factor if possible: __________________



	c. 
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x2 − 2x −8
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Discriminant: ___________

Factor if possible: __________________


	d. 
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6x2 −11x + 2
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Discriminant: ___________

Factor if possible: __________________




VI. 
You should know the meaning of the following words:

polynomial  

 monomial


binomial


trinomial

terms


 standard form


degree



coefficient

discriminant

 zeros



factor



expand
ANSWERS:
I. a) P(x) =
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5x3 +10x2 −15x
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15
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b) 3 (cubic)

c) 5

d) 10

e) -15

    f) 5x



g) 5x(x – 1)(x+3)
h) f(1) = 0


i) f(-2) = 30

II. 

	1. 6x7 – 3x +2
	Yes
	7th degree
	3: trinomial
	6

	2. 4x3 + 2xy
	Yes
	3- cubic
	3: binomial
	4

	3. 
	NO
	
	
	

	4. 
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	Yes
	1 - linear
	Monomial
	¼ 

	5. 
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−x4 + 6x +1
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	Yes
	4th degree
	Trinomial
	-1

	6. 
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8a2b3 + 5ab2 − 7ab
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	Yes
	5th degree
	Trinomial
	8


III: a. 2y3 + 6y

b. x2 - 8x + 16

c. 6x2 – 48x +96

d. a2 + 3a – 40 

      e. 2a3 + 6a2 – 80a



f. x3 – 17x + 40

IV: a. (x-6)(x+6)
b. 4x(x-5)

c. (m-6)(m-6) = (m – 6)2
d. 7xy(7x – 3y)

e. (x + 3)(x + 4)       f. (3m – 1)(3m + 1)
g. (x2 – 3)(x2 – 3)= (x2 – 3)2
h. k(k – 8)(k – 8) or k(k – 8)2


i. (m + 6)(m – 9)

j. 10ab2(3a2b3 – 1)

V. a. Discriminant = 0   so YES Factorable: 
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9m2 + 6m+1= (3m+1)(3m+1)










9

m2

+

6

m

+

1

=

(3

m

+

1)(3

m

+

1)

 (perfect square trinomial)
b. Discriminant = 105 (not a perfect square) so PRIME

c. Discriminant = 36 (perfect square) so YES factorable: 
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x2 − 2x −8 = (x − 4)(x + 2)
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d. Discriminant = 73 (not a perfect square) so PRIME
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